MAGNETIC

WONTROL’M

N
c
@)
I;
(&)
-
[ -
wid
7))
IE
T
@)
i -
(7))

U

Barrier MHTM™ MicroDrive

ACCESSPROH ACCESS TOLL
ACCESS PRO TOLL PRO
ACCESS SELECT TOLL HIGH SPEED
PARKING
PARKING PRO
PARKING SELECT




MHTM™ MicroDrive
Short instructions

Contents

0 N O O

10
11
12

Safety ..o ————— 3
Scope of delivery ... 3
21 ACCESSPROH ...cccoiiiiiiiiiieee e, 3
2.2 ACCESS/PARKING........ccceeiiiiiieeiiiieeeee 4
2.3 TOLL.iiiiiiiiciiee e 4
Required tools .........cccceeeiiieieircrreeeree e 5
DIMeNSioNS ......cooecerrre e 6
41 ACCESSPROH ...cccccoiiiiiiiiiiiee e, 6
4.2 ACCESS/PARKING........ccceevitviiiececiiiee e, 7
4.3 TOLL coteiieeeeeee e 8
Set up foundation and install housing ............. 9
Remove transport protection ...........cccccereennnn. 10
Electrical connection ..........ccccooiiiiiiiiieneennennn, 10
Assemble barrier boom ..........cccoeiiiiiiniiiniinenn, 1
8.1 ACCESSPROH ...coooiiiiiiiiiiiiieeeeeeee 11
8.2 ACCESS/PARKING.........ccoereiiraiiieeeeen 13
8.3 TOLL.ttiiiiiiiiiiiee e 16
Align barrier boom ..........ccoovviiiiiiinemnrnee, 17
Adjust balancing springs ........ccccccceiereiiiinnnnee. 18
Stick on warning signs .........ccccevieniiiisnnnnnnns 18
Start up barrier...........ccccooverrei 19

Doc-Id: 5816,0002EN / Version 03



”’ MHTM™ MicroDrive
AGES oL Short instructions
1 Safety

WARNING!

These instructions are short instructions. These instructions do not
replace the operating instructions ,MHTM™ MicroDrive“ that are part of
the delivery.

These short instructions are targeted at specialists who already have
experience with assembly, installation and commissioning.

For detailed information, see the operating instructions. Read the
operating instructions carefully before commencing any work. The
prerequisite for secure work is compliance with any safety notes and
instructions for actions included in the operating instructions.

The manufacturer is not liable for any damage from improper or non-
intended use.

2 Scope of delivery
21  ACCESSPROH

OO

Mag05020c

Doc-Id: 5816,0002EN / Version 03



MHTM™ MicroDrive ”’
Short instructions aloRoNRoL

2.2 ACCESS / PARKING

4x &

Mag05001c

»

optional

Mag05015¢c

4 Doc-Id: 5816,0002EN / Version 03



”’ MHTM™ MicroDrive
MAGNETIC - -
QoconTRoL Short instructions

3 Required tools

Q@
% I 8 z -
Wo w¥ o)
3¥ 9z P
< 2 a
Impact drill X X X
10 mm
7 N Saw X X
E Silicone cartridge X X X
@C Open-face wrench 13 mm X X X
I =D]=—D) Torque wrench, X X
hexagon socket 5 AF
Q._@l-ﬂtﬂ Torque wrench, X
hexagon socket 8 AF
Q-_'E“-mﬁm Torque wrench, X X X
hexagon socket 10 AF
—————10 Torx wrench T20 X

[ ===}

ﬁ o Hexagon socket wrench 4 AF X X

sz —Phillips screwdriver X X

for 3.5 mm

Diagonal pliers X X X

Doc-Id: 5816,0002EN / Version 03 5



MHTM™ MicroDrive
Short instructions

4 Dimensions
4.1 ACCESS PROH

min. 500 A . min. 500
ﬁ:§§
=
=L ——
©
- | 0
58
o
=] /
min. 800 A
Access Pro H 3500
- Access Pro H 4500
600 Access Pro H 5000
Access Pro H 6000
Left version
MicroBoom
360
p— 3
wn o
S | —— <« (g
- &h — 22
97 ?

Right version

% 4—9>

Mag05021a

Doc-Id: 5816,0002EN / Version 03



”’ MHTM™ MicroDrive
MAGNETIC - -
QoconTRoL Short instructions

4.2 ACCESS / PARKING

/ min. 500 ‘ A _min. 500
| |
N T
0 0| ©
ol NE
N
©
)
= e

min. 800

A
Access 3500
Access Pro 3500
600 Access Select 3500
Access L 5000
Access Pro L 6000
Access Select L 6000
Parking 3500
Left version
360 VarioBoom
I p— @\
N o
Te] o
SJ ************************* j « > O 1
— 55
é§§ = = 4 2
— ﬂ

Right version

@

Mag05002¢

Doc-Id: 5816,0002EN / Version 03 7



MHTM™ MicroDrive ”’
o

Short instructions

4.3 TOLL
/ min. 500 | A min. 500
\
—(C i
,7|,|,,7
Yo}
- ol ©
5 &
o
=4 /
v =
A
: Toll 3000
min. 800 Toll Pro 3000
X Toll HighSpeed 2000/
600 2500/
3000
Toll HighSpeed 2 1500
Left version
360
"
Te]
BT ************************* u?'[ « P>
[Te]
— N
o 3 —j|—
97 MicroBoom-T
Right version
7|
[—=— 1]
i

Mag05016¢

8 Doc-Id: 5816,0002EN / Version 03



”’ MHTM™ MicroDrive
MAGNETIC - -
QoconTRoL Short instructions

5 Set up foundation and install housing

< 2 mm/m?

miun. 800 -@——

600 SN

Q
9
%
%

For housing alignment, see chapter 4, page 6.

Mag05004b

Doc-Id: 5816,0002EN / Version 03



MHTM™ MicroDrive ”’
o

Short instructions

6 Remove transport protection

Mag05108

7 Electrical connection

Electrical
voltage!

Mag05035

230 VAC /50 -60Hz

10 Doc-Id: 5816,0002EN / Version 03



mr@nc .

8 Assemble barrier boom

8.1 ACCESS PROH

<2000

O///

> 2000

MHTM™ MicroDrive
Short instructions

O///

<

Doc-Id: 5816,0002EN / Version 03

Mag05022

1"



MHTM™ MicroDrive ”’
Short instructions aloBoNRoL

4x g M8 x 16 (AF 5)

- Tighten the
o screws 2 X.

Mag05027b

. Danger
of crushing!

Mag05023

12 Doc-Id: 5816,0002EN / Version 03



musnc .

8.2 ACCESS / PARKING

4x § M6x10(T20)
8 x M6 x 12 (AF 4)
8x & M8

Doc-Id: 5816,0002EN / Version 03

MHTM™ MicroDrive
Short instructions

Mag05006a

13



MHTM™ MicroDrive
Short instructions

+3 mm
% — ——— = = — —
9 %‘ = 2000 ‘ o~

/
-
®

14 Doc-Id: 5816,0002EN / Version 03



Doc-Id: 5816,0002EN / Version 03

4x G M8x16(5AF)

<
2 o% Tighten the screws 2 x.

MHTM™ MicroDrive
Short instructions

Mag05008b

15



MHTM™ MicroDrive ”’
Short instructions aloBoNRoL

. Danger
of crushing!

Mag05009

Danger
of crushing!

—\

S
=i
\

Y

Mag05017

16 Doc-Id: 5816,0002EN / Version 03



musnc .

9 Align barrier boom

Danger
of crushing!

Doc-Id: 5816,0002EN / Version 03

0

< Upper tool bore for

opening the barrier

Lower tool bore for
closing the barrier

MHTM™ MicroDrive
Short instructions

Service
On

Mag05010

Mag05011b

17



MHTM™ MicroDrive ”’
Short instructions aloBoNRoL

10 Adjust balancing springs

Check and set the balancing springs.
See operating instructions, chapter
"Check and set the balancing springs in
the lever system".

.
Mag05036 /

®OZ
3

®O0Z

Mag05014

18 Doc-Id: 5816,0002EN / Version 03



mNEI'IC .

12 Start up barrier

Doc-Id: 5816,0002EN / Version 03

= = — |

Mag05013

MHTM™ MicroDrive
Short instructions

Service
Off

Mag05012b

19



MHTM™ MicroDrive ”’
o

Short instructions

MAGNETIC Autocontrol GmbH
Grienmatt 20

79650 Schopfheim

Germany

Tel.: +49 (0) 7622 695 5

Fax.: +49 (0) 7622 695 602
info@ac-magnetic.com
www.ac-magnetic.com

20 Doc-Id: 5816,0002EN / Version 03



	Contents
	1	Safety
	2	Scope of delivery
	2.1	ACCESS PRO H
	2.2	ACCESS / PARKING
	2.3	TOLL

	3	Required tools
	4	Dimensions
	4.1	ACCESS PRO H
	4.2	ACCESS / PARKING
	4.3	TOLL 

	5	Set up foundation and install housing 
	6	Remove transport protection
	7	Electrical connection
	8	Assemble barrier boom
	8.1	ACCESS PRO H
	8.2	ACCESS / PARKING
	8.3	TOLL

	9	Align barrier boom
	10	Adjust balancing springs 
	11	Stick on warning signs
	12	Start up barrier

